ONE-TO-ONE FUNCTION

A function is one-to-one if each value in the range corresponds to one element in the domain. For each
ordered pair in the function, each y-value is matched with only one x-value. There are no repeated y-
values.



For each set of ordered pairs, determine if it represents a function and, if so, if the function is one-to-

one.
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For each set of ordered pairs, determine if it represents a function and if so, is the function one-to-
one.

®{Q7.-3),(8.=2), (L.=1),(0,0), 1.1), 3.2),21.3)} ®
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Determine & whether each graph is the graph of a function and, if so, (B whether it is one-to-one.
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INVERSE OF A FUNCTION DEFINED BY ORDERED PAIRS

If f(x) is a one-to-one function whose ordered pairs are of the form (x, y) , then its inverse function
f~1 (x) is the set of ordered pairs (¥, x) . S bdn x +7
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Find the inverse of the function {(0, 3),(1,5),(2,7), (3,9)} . Determine the domain and range of

the inverse function.
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Graph, on the same coordinate system, the inverse of the one-to one function shown.
- ver £ (o) (o) (5-1)  (vu)
(‘ Sy~ 37
f -l(X ) (2,0) (o ) (A7) (41,%)
C— D,” gw




INVERSE FUNCTIONS

f'(fx)) = x, forall xin the domain of f
F(r )

x, for all x in the domain of f~!
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Verify that f (x) = 5x — 1 and g (x) = x—;fl are inverse functions.
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Verify that the functions are inverse functions.

f(x)=2x+6andg(x) = == 6

f(g@) = QAR+ 6 5(@03:
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